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for the questions.

1. | 6=
Answer for the followmg questlons 1"6 6
a
(@) What ; is charactenstlcs of Primary Key ?

(b) Whlch ‘normal form depends upon the .- v
- Property of transitivity ? ‘
(c) By Whlch term the SIZe of data is known ? .

(d) How l‘elatlon is d;fferent from relation state 7
[Tum over



" Wh is éﬁcipaﬁon in ER Diagram? R - (¢) Define: schema How 1s 1t dlﬂ'erent from o
(e) What's PFE] : : o lation ? Expl
()  What'is dita abstraction in BDMS ? ' o relation ? Expl ain.

2. Answer any Jfive from the followmg questlons o T processing ? Mentlon all.
A 3x5=15 g
(a) How composite .attribute is different from
atomic attribute ? Explain with: example.

(b) DBM .
® g:f;famgess 0? gg&gef descnptlon on the ® Discuss the DIVISION operation in relatlonal

algebra with example.

Ny (¢) Discuss the syntax of the folloWing:

CREATE, INSERT, UPDATE, ALTER, DE-
LETE with proper examples.

(c) What is cascading .rollback ? Explam with

. example. | 4. Answer - any ﬁve from the followmg questions :
| (d) How natural join is dlfferent ﬁ-om equijoin ? B ' : 6x5=30 |
- Explain with example. I )] Draw an ER Diagram for Student Manage-
(¢) Mention the inference rules for fun ctional - " ment System for Bodoland Umversnty |
dependencies. - ~ (b) Writea technique for transforming ER model
(f) Difference between pnme and non-pnme | | to relation SChm with example.
attributes. | | S (c) Discuss the informal design guidelines for

relation schema with proper example.

3. Answer any five from the following questions : : (d) Write an algorithim for ﬁnding a Minimal

4x5=20 - ;
. Cover F for a set E of functional dependen-
(a). How SELEdC}m"P“;MH Works ? Retrieve the cies. Find the minimal cover. Find the
name and a ShSO allemployees who work minimal cover of the following set F of
| for the Research Department, | | functional dependencies
() Discuss the three schema architecryre of F={B—>A,D— A, AB - D}

DBMS. | -

enEEMDCSTIA @ | USRSEMNCSITIA () [Turn over

(@ What are the ACID properties in transaction . o



(e) stcuss the different types of normal forms '
‘with proper examples. :

(f) What is conﬂlct sena.hzabxhty ? How to test
for conflict serializability of a schedule ? .
Discuss with examples

5; v‘Wnte short notes on any three : 3x3=9
(a) . Foreign Key o
®) ‘Primary Key
‘(c) Transactlon Processmg
(d) Data Fragmentatlon '
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